Y2 R0 77 0N RIX 2" 702

We require money, and it is present — RDORTY J1°w2 NI2R

OVERVIEW!'

The X713 queried; what is the rule if someone borrowed an item with the intention
to derive less than a 719 MW benefit from it; is he considered a PXW or not. The
reason he should be considered a X1 is because XX 1°v2 X1nn. Our MdOIN
clarifies this side of the query.
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The explanation of 'R>°X71 11°v2 X117' is that there is a requirement that he lend
him something that has monetary value, and that happened, and he also derives
a benefit from it.

SUMMARY
There is reason to be considered a ?X1 if money is borrowed and some benefit is
derived from the item (even less than a 8").

THINKING IT OVER
What would be more likely to make one a PRw; deriving indirectly a benefit more
than a 8" W (772 NX7°Y), or deriving directly a benefit less than a 5™w?

! See (‘Overview’ to) previous >N T X1 17"7 'oIN.

2 Mmoo may be negating the simple meaning that all that is required is that the 2°xwn lend the YXWw something of
monetary value, for in the previous query 72 MX? 28w, where he is lending him X117, nevertheless there may still
be a requirement of 72 *37n°17; why therefore the need for our query. [Alternately why does not the &1 query what
is the rule if he borrowed the 719 with no intention of using it at all.] Rather we must say that in order to be a ®XW he
must benefit somehow; here he is deriving actual benefit from the animal directly (albeit less than a "W). [The
word 'R>°’®M' may mean that (not only is there X111, but also) the PR has actual benefit from the animal.]
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